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VNR11M Virudhunagar District .....
Common Half Yearly Examination - December 2024

-----

Standard 11

MATHEMATICS

Time Allowed: 3.00 Hours Maximum Marks: 90

PART-A
i) Answer all the questions. ~ 20x1=20

ii) Choose the correct answer.
1) Ifn(A) = 2 and n(BuC) = 3 then n[(AxB)v (AxC)] is

a) 2° b) 32 c) 6 d)5
2) Letf: R — R be defined by f(x) = 1-|x|. Then the range offis____ .
a)R b) (1,) c) (-1,) d) (- 1) .
3) Thevalue of log; 512is ___. (
a) 16 b) 9 c) 18 d) 12
kx 2 £ g '
4) If X+ D(x=1D) x+2+x-1 then the value of k is
a) 1 b) 3 c) 2 . d) 4
5) sin 765° =
1 : J3 1
= X ) — “d) 1
a) > b) 5 c) N )
6) cos 1° + cos 2° + cos 3° + cos 4° + rer + COS 179°=__ . S
a)0 b) 1 c)-1 " d) 89
15
7): Comi vt
13
a) 1005 b) 105 c) 15 -~ d) 51
8) Thevalueof 1 +3+5+7+ ...+ 17 = ‘
a)101 - bys1 ¢y7i " “Ydyel
9) The remainder when 38 isdivided by 13is .-
a) 12 b) 1 ' c)5 d) 11
10) Which of the following equation is the locus of (at?, 2at) .’
x2 y2 XZ y2
a) a—z—F—=1‘ b);+b—2=_1‘ | c)x2+'y2=af d) y? = 4ax
11) The area of the triangle formed by the lines x? - 4y? = 0 and x = a.is
: \/3 1 2
2 X —_2 - ¢ —V e i
a) 2a b) 2 a ¢) 2a d) \/362
12) If the points (x,-2), (5,2); (8,8) are collinear, then x is equalto .
= 1
a)3 b) -3 0¥ d) 1
- 13) If |la] =13, |b| =5and a.b = 60° then |axb]| is
a)15 . b) 35 c) 45 il - d)25
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14) If ABCD'is a'parallelogram, then ‘AB +AD %CB+CD"is”eqUal to
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a) 2AB+AD) = b) 4AC o .o €) 4BD | d)0
‘ LTy gt AT, o
15) The value of H_T[n—z +B5-+;‘7++'n7} IS _
a) 5 b) 0 ¢) 1erigHesun 9L gy LRI
16) IfY =sin? x -21 =
a) 2 sin x ~ b)sin2x c)sinx ~ d) 2 cos x

17) If pv = 81 then 3—5 atV=9is

a)l . b)-1 e Y SRR OCIRMRIRY) |

' : | | 1 1
18) It is given that the events A and B are such that P(A) = z ; P(A/ B)= 3 and

P(B/A) Z then P(B) is

% D% 9 Y 9 %2
19)' If A is a square matrix, then which of the following is not symmetric?
Ca)A+AT ~ bb(w:tz-bz. Cgaa 0 dAA
20) Eight coins-are tossed onc ,xtﬁgoprbbgt?tli‘éy of gettihg.‘exactly two tails

81 2 ' 7

a) 8C, b) 356 c) 28 d) 64

PART-B _ it b
Answer any 7 questions only. Q. No.30 is compulsary. : 7x2- 14
21) IfA=1{1,2,3,4}yand B = {3,4,5 ,6}, find n[(AuB)x(AnB)x(AAB)
22) Find the real roots x* = 16.

1+tanA

23) Prove that tan(45°+A) = .
‘ 1-tanA

24) Find the number of ways of arranging the letters of the word “BANANA".

25) Find the equation of the line through the intersection of the Iinés
3x+ 2y +5=0and3x -4y + 6 ='0 and the point (1,1).

26) Show that 3x(B+8)+Bx(C+a)+Cx(a+b)=0.

14+XxX- 3x3

27) Evaluate le
) ]+ x2 + 3x

28) Ify = (x——i-] find gl.
X dx

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net . www.Trb Tnpsc.Com

VNR11M : 3 Pl SRR IRAY
29) IfP(A) = 0. 52 P(B) = 0.43’; and P(Ar\B) = 0.24 find the value of P(AB)
~and P(AUB).
2 -3 5 , '
30) If|{6 O 4 |identify the singular and non-singular matrix. . ..
15 -7]
Part-C | ,
Answer any seven questions only. Q.N0.40 is compulsary. 7x3=21

31) A salesperson whose annual earnmgs can be represented by the function
A(x) = 30000 + 0.04x, where x is the rupee values of he sells. His son is also
in sales and his earnings are represented by the function S(X) = 25000 + :
0.05x. Find (A+S) (X) and determine the total family income if they each sell

rupeesin 1,50,00,000 worth of merchandise.

! ' o Ry ;
32 R - . H —————————————— -
) Resolve into partual fractions (Xx+3)(x+4) " -

- 33) In AABC, Prove that (b+c) cos A + (c+a) cos B + (a+b) cos C = a+b+c.

34) How many ways a committee of six persons from 10 persons can be choosen:
along with a chair person and a secretary?

: y 10
35) Find the co-efficient of x% in (xz +—1?] ;

X
0 cb b?+c* ab ac .
36) Provethat|c 0 a =| ab ¢ +a bc |.
b ao ab bc . @ +b’

37) Show that the vectors (2i~j4K) ; (3i -4j-4Kk) ; (i-3j-5k) form a right
angled triangle? : :

38) Find Y', Y” and Y if y = X3 - 6x2 - 5x + 3.

39) Show that the points (1,3) (2,1) and (% : 4) are collinear by straight line method.

40) X speaks truth in 70% of causes, and Y in 90% percent of causes what is
the probability that they likely to contradict each other in stating the same
fact? :

Part-D i &
Answer all the questions. o £ 7x5=35
41) Write the values of f at -3,5, 2 -1,0if

x2+x-5 if Xe& (—,0)
X2 +3x-2if Xe (3,)
x? if xe (0,2)
x*-3 otherwise

f(x) =

(OR)
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Find the constant b that makes g continuous on (-, «)
yia x*-b? if x<4

900 = 1bx+20 if x24

; T
42) 1) Find the radius of the spherical ténk whose volume is 325 units.

: a’ b? c
ii) Prove that IogBE+IogE +Iog.a_b =0.

(OR)

Prove that ¥ + 7 - ¥x* +4 s approximately equal to -xlz- when x is large.

43) If A+B+C = 180° Prove that sin’A + sin?B + sin?C = 2 + 2 cos A cos B C0S C.

44)

45)

46)

47)

(OR)

CR M P’
Showthat| @ (r+p)? @ |=2pgr(p+q+r)>

r o (p+q)
Prove by mathematical inductionif n > 1.

n{n+ 1)(2n +1)
6

(OR)

12422432 +...40=

domunih ity dy
Ify = sin (—1—:;(—2-] find dx

If the equation 2x? - 10xy + 12y? + 5x - 16y =3 =0 represents a pair of
straight lines. (i) Seperate equations of the lines (ii) Find the angle between
the lines. (OR)

Ify = e™ ' prove that (1 +x?) y"* + (2x -~ 1) y* = 0.

Prove by vector method, the ‘medians of the triangle are concurrent.
- (OR) '

Use the method of undetermined co-éfﬁcients to find the sum of

1+42+3+...+4(n-1);neN.

The chances of A, B and C becoming the manager of a certain company are
5:3:2. The probabilities that the office canteen will be improved if A, Band C
become managers are 0.4, 0.5 and 0.3 respectively. If the office canteen
has been improved. What is the probability that B was appointed as the
manager? (OR)

Show that the points whose position vectors 4i+5j+k ; - j—k ; 3i+9j+4k
and —4i+4j+4k are co-planar.

- -
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